	Number of		Yield per		Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	P	Production	Measure	Value
FORESTRY							
Pulpwood							
Pine					48,951	cords	
Hardwood					30,190	cords	
Pulpwood (Total)					79,141		
Chip & Saw (Total)					26,013	cords	
Saw Timber							
Pine					14,649,692	board feet	
Hardwood					7,460,281	board feet	
Saw Timber (Total)					22,109,973		
Total Pulpwood, Chip & Saw, Saw Timber FOB Mill							\$19,317,008
Total Forestry Stumpage							\$11,066,072
(Total)							,,,,,,,
Christmas Trees (Total)	*				300	trees	\$12,000
Forestry (Total)							\$19,329,008
FRUITS							, ,
Blueberries (Total)	*	10.0	2,000.00		20,000	lbs.	\$32,000
Mayhaws							
Orchard	*	3.0	200.00		600	lbs.	\$780
Mayhaws (Total)		3.0					\$780
Muscadines							
Commercial	*	15.0	7.00		105	tons	\$33,600
Muscadines (Total)		15.0					\$33,600
Fruits (Total)		28.0					\$66,380
FEED GRAINS							
Corn (Total)	8	2,100.0	91.00		191,100	bu.	\$418,509
Feed Grains (Total)		2,100.0					\$418,509
GREENHOUSE VEGETABLES							
Tomatoes (Total)	*	9,000.0	5.00	Yield / sq. ft.	45,000	lbs.	\$56,250
Greenhouse Vegetables (Total)		9,000.0					\$56,250
HAY FOR SALE							

EAST FELICIANA PARISH

EAST FELICIANA PARISH		PLANT EN	TERPRISES PRODUCTION	ON		
	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
HAY FOR SALE						
Grass (Total)	60	10,000.0	4.50	45,000	tons	\$2,700,000
Hay for Sale (Total)		10,000.0				\$2,700,000
Home Gardens (Total)	3,100					\$806,000
Sod Production (Total)	*	150.0			acre	\$900,000
Soybeans (Total)	*	782.0	19.00	14,858	bu.	\$87,811
SWEET POTATOES						
Fresh (Total)				4,000		\$59,000
Sweet Potatoes (Total)	*	20.0	200.00	4,000	bu. (50 lbs.)	\$59,000
Wheat (Total)	*	724.0	28.00	20,272	bu.	\$66,492
TOTAL ALL PLANT ENTER	PRISES					\$24,489,450
	FISHER	RIES & WILI	<u> LIFE ENTERPRISES PRO</u>	<u>ODUCTION</u>		
	Number of		Units of	Total	Units of	Gross Farm
Fisheries	Producers		Production	Production	Measure	Value
Fur Animals (Total)				11	pelts	\$107
Alligators (Wild) (Total)				82	ft.	\$2,475
HUNTING LEASES						
All Other Game (Total)	140		120,000 No. Acres		acre	\$840,000
			Leased			
Hunting Leases (Total)						\$840,000
TOTAL ALL FISHERIES & V	VILDLIFE ENTERP	RISES				\$842,582
		ANIMAL E	NTERPRISES PRODUCTI	ON		
	Number of		Units of	Total	Units of	Gross Farm
Animal	Producers		Production	Production	Measure	Value
CATTLE & CALVES						
Steer Calves						
300-400 lbs.				844	head	\$449,924
400-500 lbs.				2,344	head	\$1,418,390
500-600 lbs.				2,907	head	\$1,910,146
600-700 lbs.				3,282		\$2,418,309

Steer Calves (Total)
300-400 lbs. 2,164 head \$1,83,849 \$00-500 lbs. 2,683 head \$1,83,849 \$00-600 lbs. 2,683 head \$1,83,849 \$00-600 lbs. 2,683 head \$1,83,849 \$00-600 lbs. 3,029 head \$2,62,637 \$00-700 lbs. \$1,000 head \$2,043 \$1,000 \$1,000 head \$1,
400-500 lbs.
500-600 lbs. 2,683 head \$1,662,467 600-700 lbs. 3,029 head \$2,113,364 Heifer Calves (Total) \$5,324,076 Yearling Cattle 306 head \$2,043 Yearling Cattle (Total) 306 head \$2,043 Cow-Calf Pairs (Total) 355 pair \$347,591 Cull Cows (Total) 97 head \$90,021 Cull Bulls (Total) 97 head \$90,021 Cattle & Calves (Total) 193 19,600 No. Cows 97 head \$90,021 Cattle & Calves (Total) 193 19,600 No. Adult Cows 6,368,612 pounds \$1,024,073 Brod Heifers 9 head \$16,200 Adult Cows 6,368,612 pounds \$1,024,073 Bred Heifers 9 head \$16,200 Adult Cows 11 head \$16,200 Bull Calves 11 head \$26,600 Bull Calves 184 head \$2,000 Breeding Age Bulls \$2,000 Dairy Cows (Total) \$1,134,973 Dairy (Total) \$2,000 Brood Mares \$1,200,000 Show Horse \$1,200,000
March Marc
Heifer Calves (Total) Yearling Cattle 700-800 lbs. 306 head \$2,043 \$2,
Yearling Cattle 306 head \$2,043 Yearling Cattle (Total) \$2,043 Cow-Calf Pairs (Total) 355 pair \$347,591 Cull Cows (Total) 1,960 head \$776,856 Cull Bulls (Total) 97 head \$90,021 Cattle & Calves (Total) 193 19,600 No. Cows \$12,737,355 DAIRY **** Dairy Cows Milk *** Milk *** 400 No. Adult Cows 6,368,612 pounds \$1,024,073 \$1,024,073 Bred Heifers Adult Cows Cull Cows Gull Cows Bredding Age Bulls Bredding Age Bulls Dairy Cows (Total) Dairy Cows (Total) Dairy Cows (Total) Bredding Age Bulls Frood Mares Show Horses Show Horses 12 75 No. Brood Mares Show Horses 15 75 75 75 75 75 75 75 75 75
700-800 lbs. 306 head \$2,043 Yearling Cattle (Total) \$2,043 Cow-Calf Pairs (Total) 355 pair \$347,591 Cull Cows (Total) 1,960 head \$76,856 Cull Bulls (Total) 97 head \$90,021 Cattle & Calves (Total) 193 19,600 No. Cows \$12,737,355 DAIRY ****
Yearling Cattle (Total) \$2,043 Cow-Calf Pairs (Total) 355 pair \$347,591 Cull Cows (Total) 1,960 peak \$776,856 Cull Bulls (Total) 97 head \$90,021 Cattle & Calves (Total) 193 peak \$12,737,355 DAIRY \$12,737,355 \$12,737,355 Dairy Cows \$10,000 peak \$1,024,073 Bred Heifers \$400 peak \$6,368,612 pounds \$1,024,073 Bred Heifers \$9 head \$1,024,073 Adult Cows \$11 head \$16,200 Cull Cows \$11 head \$16,500 Bull Calves \$111 head \$66,600 Bull Calves \$184 head \$9,200 Breeding Age Bulls \$2,400 \$1,134,973 Dairy Cows (Total) \$1,134,973 \$1,134,973 HORSES \$100 Mares \$2,500,000 Brood Mares \$1 \$2,600,000 Brood Mares (Total) \$2,600,000 Stud Fees \$1 \$2,600,000
Cow-Calf Pairs (Total) 355 pair \$347,591 Cull Cows (Total) 1,960 head \$776,856 Cull Bulls (Total) 97 head \$90,021 Cattle & Calves (Total) 193 19,600 No. Cows \$12,737,355 DAIRY ***** *****
Cull Cows (Total) 1,960 head \$776,856 Cull Bulls (Total) 97 head \$90,021 Cattle & Calves (Total) 193 19,600 No. Cows ** \$12,737,355 DAIRY Dairy Cows ** 400 No. Adult Cows 6,368,612 pounds \$1,024,073 Bred Heifers 9 head \$1,024,073 Adult Cows 11 head \$16,200 Adult Cows 111 head \$16,200 Cull Cows 111 head \$16,500 Bull Calves 184 head \$66,600 Breeding Age Bulls 12 12 12 12 12 12 12 12 12 12 12 13 14 <t< td=""></t<>
Cull Bulls (Total) 193 19,600 No. Cows \$12,737,355 DAIRY Dairy Cows ** 400 No. Adult Cows 6,368,612 pounds \$1,024,073 Bred Heifers 400 No. Adult Cows 6,368,612 pounds \$1,024,073 Adult Cows 9 head \$1,024,073 Adult Cows 11 head \$16,200 Cull Cows 11 head \$16,500 Bull Calves 184 head \$66,600 Bull Calves 184 head \$9,200 Breeding Age Bulls 2 \$1,134,973 \$1,134,973 Dairy Cows (Total) 2 \$2,400 \$1,134,973 HORSES 8 \$1,134,973 \$1,134,973 Brood Mares 12 75 No. Brood Mares 65 head \$260,000 Brood Mares (Total) \$260,000 \$260,000 \$260,000 \$260,000
Cattle & Calves (Total) 193 19,600 No. Cows \$12,737,355 DAIRY Dairy Cows Milk * 400 No. Adult Cows 6,368,612 pounds \$1,024,073 Bred Heifers 9 head \$1,024,073 Adult Cows 11 head \$16,500 Cull Cows 111 head \$66,600 Bull Calves 184 head \$9,200 Breeding Age Bulls 2 184 head \$9,200 Dairy Cows (Total) 5 \$1,134,973 Dairy (Total) 5 \$1,134,973 HORSES Brood Mares 12 75 No. Brood Mares 65 head \$260,000 Brood Mares (Total) \$260,000 \$260,000 Stud Fees 12 75 No. Brood Mares 55 head \$260,000
DAIRY Dairy Cows 400 No. Adult Cows 6,368,612 pounds \$1,024,073 Bred Heifers 9 head \$16,200 Adult Cows 11 head \$16,500 Cull Cows 111 head \$66,600 Bull Calves 184 head \$9,200 Breeding Age Bulls 2 head \$2,400 Dairy Cows (Total) \$1,134,973 Dairy (Total) \$1,134,973 HORSES \$1 \$75 No. Brood Mares 65 head \$260,000 Brood Mares (Total) \$260,000 \$260,000 Stud Fees \$1 \$260,000
Dairy Cows Milk * 400 No. Adult Cows 6,368,612 pounds \$1,024,073 Bred Heifers 9 head \$16,200 Adult Cows 11 head \$16,500 Cull Cows 111 head \$66,600 Bull Calves 184 head \$9,200 Breeding Age Bulls 2 head \$2,400 Dairy Cows (Total) \$1,134,973 Dairy (Total) \$1,134,973 HORSES Brood Mares Show Horses 12 75 No. Brood Mares 65 head \$260,000 Brood Mares (Total) \$260,000 \$260,000 Stud Fees \$260,000 \$260,000
Milk * 400 No. Adult Cows 6,368,612 pounds \$1,024,073 Bred Heifers 9 head \$16,200 Adult Cows 11 head \$16,500 Cull Cows 111 head \$66,600 Bull Calves 184 head \$9,200 Breeding Age Bulls 2 head \$2,400 Dairy Cows (Total) \$1,134,973 Dairy (Total) \$1,134,973 HORSES \$1,134,973 Show Horses 12 75 No. Brood Mares 65 head \$260,000 Brood Mares (Total) \$260,000 \$260,000 Stud Fees \$260,000 \$260,000
Bred Heifers 9 head \$16,200 Adult Cows 11 head \$16,500 Cull Cows 111 head \$66,600 Bull Calves 184 head \$9,200 Breeding Age Bulls 2 head \$2,400 Dairy Cows (Total) \$1,134,973 Dairy (Total) \$1,134,973 HORSES Brood Mares Show Horses 12 75 No. Brood Mares 65 head \$260,000 Brood Mares (Total) \$260,000 Stud Fees
Adult Cows 11 head \$16,500 Cull Cows 111 head \$66,600 Bull Calves 184 head \$9,200 Breeding Age Bulls 2 head \$2,400 Dairy Cows (Total) \$1,134,973 Dairy (Total) \$1,134,973 HORSES \$175 No. Brood Mares \$10 Show Horses 12 75 No. Brood Mares \$260,000 Brood Mares (Total) \$260,000 Stud Fees \$260,000
Cull Cows 111 head \$66,600 Bull Calves 184 head \$9,200 Breeding Age Bulls 2 head \$2,400 Dairy Cows (Total) \$1,134,973 Dairy (Total) \$1,134,973 HORSES Brood Mares \$12 Show Horses 12 75 No. Brood Mares 65 head \$260,000 Brood Mares (Total) \$260,000 \$260,000 Stud Fees \$260,000 \$260,000
Bull Calves 184 head \$9,200 Breeding Age Bulls 2 head \$2,400 Dairy Cows (Total) \$1,134,973 Dairy (Total) \$1,134,973 HORSES Frood Mares \$1,134,973 Brood Mares \$12 75 No. Brood Mares 65 head \$260,000 Brood Mares (Total) \$260,000 \$260,000 Stud Fees \$260,000 \$260,000
Breeding Age Bulls 2 head \$2,400 Dairy Cows (Total) \$1,134,973 Dairy (Total) \$1,134,973 HORSES Brood Mares Show Horses 12 75 No. Brood Mares 65 head \$260,000 Brood Mares (Total) \$260,000 \$260,000 Stud Fees \$260,000 \$260,000
Dairy Cows (Total) \$1,134,973 Dairy (Total) \$1,134,973 HORSES *** Brood Mares *** Show Horses 12 75 No. Brood Mares 65 head \$260,000 Brood Mares (Total) \$260,000 Stud Fees *** *** ***
Dairy (Total) \$1,134,973 HORSES \$1,134,973 Brood Mares \$260,000 Brood Mares (Total) \$260,000 Stud Fees \$260,000
HORSES Brood Mares Show Horses 12 75 No. Brood Mares 65 head \$260,000 Brood Mares (Total) \$260,000 Stud Fees
Brood Mares Show Horses 12 75 No. Brood Mares 65 head \$260,000 Brood Mares (Total) \$260,000 Stud Fees
Show Horses 12 75 No. Brood Mares 65 head \$260,000 Brood Mares (Total) \$260,000 \$260,000 Stud Fees \$260,000 \$260,000
Brood Mares (Total) \$260,000 Stud Fees
Stud Fees
Show Horses 10 No. Stallions 80 mares bred \$120,000
Stud Fees (Total) \$120,000
Show Horses (Total) 25 75 head \$375,000
Recreation Horses (Total) 500 1,340 head \$2,010,000
Horses (Total) \$2,765,000
SWINE

EAST FELICIANA PARISH

EAST FELICIANA PARISH ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
SWINE					
Show Pigs (Total)			315	head	\$89,775
Feeder Pigs (Total)			1,260	head	\$39,312
Slaughter Hogs (Total)			1,575	head	\$205,774
Culls (Total)			40	head	\$6,720
Swine (Total)	*	170 No. Sows			\$341,581
TOTAL ALL ANIMAL ENTERPR	RISES				\$16,978,908

\$42,310,940 EAST FELICIANA PARISH